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g Questions by selecting the most appropriate option.
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1. Which of the foﬁoMng should not be
a need of children with impairment
from the point of view of inclusive
education ?
(1) Need for coping _with own's
impairment - ¥
(2) Need for proper guidance &
counselling 7 Sy
4% Need for %ing dependent on
others >

(|
(4) Need for assistive equipments

2. Match the following stages of
Kohlberg's development
theory with their characteristics :

moral

Moral Stages Characteristics

(a) Conforming y Getting the approval

obtain reward of others

(b) Maintaining social[\ (1i) Stage based on seli-
order interest

(c) Good interperso ii1) Eternal value accepted

(@]

relationships« by conscience

e
(d) Universal etl}iﬁl (iv) Importance of justice
principles _ . " and law
Choose the correct code :

@ @® ( @

P - ORI I

(2)yFRains Q) @  (@(v)

@) Qi) LGy @) o D)

@) i@y - Gv Q)
P.T.O.
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3. = ST s=t & fore Freferfed o @ 3. Which of t'hémcj f9110xlrair1fir v;zszmc;f
BT Gﬂaﬂ:{ P ale YR g7 instrt?ction 1§Csu1ta°b e
impaired chilfren ?
(@) Tipfw Wy - (a) Sign langfiage
(b) SR T+t (b) ‘Finger spelling| "
(c) WS Yo (- (¢) Lip reading
(d) @ﬁﬁ YT, — (d) Cued speec
ﬁs?i_"r 2l W Pl : —~Choose the correct code :

(1) (@ W (c)

@) @, (b) @ ()

®) (@), (c) T (a)

@ @, ), © W@
Fefiied & @ a9 ergdRea &
gHIid 787 aar ?

(1) SIEREar (2) ARy
(3) T (4) RSBy

Frafifed & @ - wsie Ren
H TH 9F Fa7 e ?

(1) foemR-fmst gﬁeﬁz
(2) B

(3) HFHT

(4) FFcfepar
Frefefad & & 5 71 A
el % &t @ afrafh v afes
e 1 S & forg Sugea 78 ®

(1) (@) and (cF
(2) (a), (b) arid (e)
(3) (), (c) arig ()

A7 @), (b), () and (d)

4. Which of the following is not

influenced by heredity ?
(1) Aptitude (2) Attitude
(3) Emotions ﬂ }ntereét L

Which one of the following is
not a component of_ progressive
education ?

( i) Discussion

_A42J Memorization »

(3) Experientation -«

(4) Interaction .. -
b

O

6. Which of thg following types of

questions is et suitable for testing
stud_gg_t_‘s glgg;ggs_ig_n_ of ?eeli:;lgs
and logical thinking ? e

Analytical type >~
(2) Critical type L/
(3) Discussion type v
(4) Multiple option typer
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1. Which of the following is_ngt a

characteristic of inclusive education ?

(1) It supports special ed.ucational
needs v~

(2) It says to celebrate diversity |

(3) This ensures the participation of .
teacher, parents, child and society

A4 It is limited to the special

education of disabled children :

8. Which statement is incorrect about

the development and its relationship
with learning ?

(1) Deprivation of learning
opportunities limits

development.

(2) Children can not learn until
they are developmentally ready
to learn. 3

/éa’bevelopment is the product of

maturation and learning.©>C

(4) Despite the limits of maturation
the development can go beyond
a c:ertain Eoint, whefll _@eqming
is ez‘:lcouraged.\./v

9. According to McDougall, the emotion
of 'disgust' is associated with which
basic instinct ?
(1) Repulsion
(2) Escape

% Combat

(4) Curiosity

P T.O.
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10. Which of the following is not

11.

12.

13.

helpful action of teacher in promoting

socialization among children ?
Givir:g the individual project
work &«

(2) Assigning sog:ial responsibilities®™

co-curricular

3 Orgﬁnizing
o e o

activities
(4) Motivating for social
- participation’y:_~—

Which of the following is nof a
common characteristic of deprived
children ?

/(eﬂ/’l"hey look physically challenged @

(2) They are socially aisadvantaged%‘@'
(38) They are economically deprived >
(4) They feel emotionally inferior Ag

Which of the following is not a child
centered method of learning ?

(1) Demonstrationt— -

(2) Field Tripw —

Mrogrglmmed Instruction ,

(4) Project- |

Which of the following is not a
feature (oh: |

continuous and,
comprehensive evaluatiqn ?

(1) Regtllarity of assessment

(2) Frequency of unit tests .—

(8) Diagnosis of learning gaps*"

% Measuring

achievement:

only schblastic
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14. Which of the following statement is’
not correct regarding individual
differences ?

(1) Ind'ividual differences exist in .
both cognitive and psychomotor
domain. —

(2) Species characteristics influence
individual differences:«——

(8) The cause of individua)
differences is the social
nenvironment, not the physical
environment.>" :

A‘t)’ Age also has an effect on,
individual differenges..

15. Select the correct sequence (top to
bottom) of hierarchical intelligence
theory of Vernon :

(1) General factor — Specific factor
— Major factor > Minor factor

(2) Specific factor —» General factor
— Minor factor —» Major factor

ﬁ General factor — Major factor >
Minor factor —» Specific factor

(4) Major factor — General factor >
Specific factor - Minor factor

16. 'Adisorder of writing ability in which

a learner has-;» difficulty with letter
formation, spellirlg, fine motor
co-ordination etc.' This disorder is

called asr:_
WDjrslexia
(2) Dysgraphia ¥ @

W DYSpraxiM

(4) Dyscalculia )7
Pagls: O
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17. Arrange the steps of Bandurg'g
social learning theory in S€quence -
(a) Perception of behaviour -)
(b) 'Reﬁinforcement of behavioyr ¥y
(c) Remember of behaviour- 9
(d) Cp;}yert the memory into action )
Choose the correct code :

25 @, ® @, ®)

(@) (b), (a), (c), (d)
) (0, (d), (a), (b)
(4) (0), (o), (d), (a)

18. Which of the following is not an
environmental  factor affecting

teachingdearqing PR

(1) Leairning material
AT Physical conditions

(3) Recreationa] facilities

(4 Maturatioq

19. Which of the foilowing Statements
régarding intelligence are not trye ?
(a) Intellectya] development s

Inflyenceq by genetics, not
SMVironment,
(b) Gender‘ differences do not
cauée intellgctﬁal differencesi
(¢) Sharp intelligence is‘é sign of .
sharp memory
(d) Intelligenge gives the ability to,
adjust in new situations.
Choose the Correct code :
(&) and (h) - (@) (@) and (c)
() (b)and (d) (4)' (c) and (q)
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Which tests can be administered
by the teacher to identify creative
children ? &

(a) Figure tonérﬁuctwn testi="

(b) Product 1m§iovement test h?’
(c) Usual uses fest

(d) Pi;:tur;a -comC];J)lefi:n test "
Choose the correct code :

(1) (a)and (d)

(2) (b) and (c)

A (@), () and (@)

(4) (@), (b), (c) and (d)

According to E*’iaget‘s cognitive
development ®lieory, when the
learner maintaining a proper balance
between himseifZherself and his/her
environment, this mechanism is

called as :

(1) Accommodation -+
(2) Assimilation<

(8) Equilibration -~

V@Q‘) Integration . .

22.

In a learning situation presenting
relevant facts sgparately from non-
relevant facts, E}ndmatwe of which
principle of_lealgung r:

(1) Principle of multiple response

A2 Principle of analogy

(3) Principle of prepotency of
elements

(4) Principle of associative shifting

i
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23. According to Freud's psycho—sexu‘m
development theory, the stage in
which adolescent attracts towards

opposite sex, i:s:iknown as:
Phallic stagjg

(2) Anal stage="

(3) Genital sthg‘<fﬁ-”

(4) Latency stage

24. Which constitutional right of
children with special needs does
inclusive education protect ?

;,Qlf)/ Right to Education - «
(2) Right to Respeqpa
(3) Right to Acceptance ) 5=
(4) Right to miegranon

25. Which strategg;gs of learning is not
appropriate for the learner of
senior secondary level ?
Learning tasks at memory level

(2) Allowing  self-discovery of
knowledge

(3) Giviﬂg appropriate space to
classroom intéraction“—*"“

(4) Student centered teaching-
learning»\-/“

26. Which of the, following. gender
‘biased actio are not to be
involved in educanonal practices ?

(a) Homogengeus groupmg}‘ﬂ
(b) Gender neutral content o<
(c) Stereotyped
guidance $<3
(d) Teacher's prejudiced attitude«"
Choose the correct code :
(1) (@) and (b) (2) (a), (c) and (d)
(3) () and (d) £ (2), (b)and (c)

occupation
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21. Which of the following is net an
acquired motive ? ) it
%Affiliation ¥
: (2) Achievement?‘/
(3) Approvaiff’/- |
(4) Pain avoidance »

28. Which of the following is nof an

example of developmental changes

under acqulsmon of new features ?
OB Permanent teeth
| (2) Primary sex characteristics

(3) Secondary sex characteristics*

)ﬂ' Thymus gland ° %

29. Whlch option is correct regarding

emotlons in eaij_r_adolescence ?
/G‘)/Intense and rational
(2) Uncontrolled and rational
1 '(3) Uncontrolled and irrational >
., (4) Controlled and intense o

30. When the assessment is designed to
evaluate student's
achievement and proﬁciency at the

end ofa leammg penod is known as:

overall .

(1) Assessment of learning *
(2) Assessment for diagnosing >

o Assessment for learning

(4) Assessment for remedy

P.T.O.
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35T / ENGLISH o
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Direction : Answer the following quest_i_o_If_P_Yr_-"'eleCtmg = 3

49. Fill in the blank with the COrrg,,

46.

A7 listening

Fill in the blank with the*correct
option :

............. skill involves training the

learner. to listen for the English
speech sounds including stress
and intonation patterns.

(2) aural-oral

(3) reading (4) writing =

option :
Teaching le_amers. to  discygg :
poem in English in their Natiy,

languagg is an instance of the Use

ofckf?]

(1) eval@tive comprehension

/(2‘)’ multgngual resources L—

3) pre-readmg skills .

47. Fill in the blank with the correct (4) first language achISltlon So
option : '
T ] jon : ! 9) R
The two kinds of listening Direction : (Q. No. 50 to 59) ead the
ROEREd o o TR following poem and answer the

/af)’ active and passive .

(2) skirpmz'ng and s’ganningg
(3) intensive and extensive’

(4) referential and inferential

questions that follow :

Mother, I am tlgone

you sent away g

when the doctq,f!told you
Iwould be ~

48. Choose the correct option : a girl —In the end they had to
Assertion A : The disadvantage of give me an injection to kill me.
print material is that it lacks Before I died I heard
interaction and the use of audio- the traffic rushing outsz‘dé the monsoon
visual elements. T Slush, the wind sulkmg through
Assertion B : Print materials are your beIoved M‘nmba; -
not portable, not easily a_Va!lable ‘ I Could Havé clatched the neon blue
and are not cost effective, 10 one wanted
(1) Aistrue; B is falge No one wanted™
~ (2) Bistrue; A is falge @ To touch me — except later in the
4P Both A& B are true autopsy room

@ Both A & B are fa]se

[ Level-3/5317 ]

when they knew my mouth would not

search
‘::..*Eli '



for anything — anq m Y head could pe

measured
and bent cut apart.

Ilooked like a sliceq Pomegranate
The fruit you never touched, .-

Mother, I am the one you sent away

When the doctor told you
I'would be a girl — your second girl,
Afterwards, as soon as yoﬁ could

you put on your grass — green sari —

— v

bIossoms
glistened in your hair — G e
Afterwards
everyone smiled. %
But now I ask you AR

to look for me, mother,

look for me because

I won't come to you in your dreams,
Look for me, mother, look

because I won't become a flower
Iwon't turn into a butterfly
AndiI'afn-not. a péft_of anyone's song.
Look, mother,

look for the place where you have

sent me.

Look for the unspeakable.
the place that can never be described.

Look for me, mother, because

this is not 'God's will', r\.O'

Look for.me, mother E:\:g

[15/D]

because I smel] of formc;ﬂ:lehyde
I'smell of fo.rmeu‘ca‘ehydeO

and still, I wish you would look
for me, mother,

50. Who does the girl address ?
_A*T the doctor
(2) the society

(8) the father
(4) the mother

D710261

51. In which city does the foeticide
take place ?

(1) Delhi
(2) Chennai

52. What does the killed infant smell
of? . es e o ™,
(1) formaldehydes\
(2) pan]atak/*”(\]
3) chlonne/‘o -t

Mlush D

53. Who is "I" in the c__)p_ening’line; 0,
(1) the poet P
/(23’ the killed infanL girl

3) n{atherz& CEY
(4) the doctor :

ol o

P.T.C
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54. Fill in the blank with the correct
option : . >
According to the speaker the
mother disliked .......... :

(1) oranges
(2) parijatak blossoms ¢

487 pomegranates

(4) the grass-green sari

55. Find a word from the poem Which
means "post mortem" :

(1) formaldehyde
(2) injection to kill

_«£3) neon blue
(4) autopsy

56. Why was the mfant in the womb
killed ? 2

(1) because it was defectwyo

(2) because the mother didn't want
a second girl chilgd

Moctor s mistake »’O

(4) it was uglw

51I. Which one of the following is used
as a literary device in the poem for
effectiveness ? ' i

| (1) repetition
(2) climax_ %

(3) irony

58. Fill in the blank with the correct

option :

" looked like agliced pomegranate’

1s an exampleg’ ............. i
‘__|
(1) metaphorg
ﬂ an implied simile
3) irony;o
(4) simile)e
59. Find the word in the poem which
means "shone%ﬁe to being wet".
(1) glistened g

{eaa’s"ulking

(3) clutched

D7

(4) blossom
60. Fill in the blank with the correct
option :

Nesfield's grammar is an instance

(1) universal

A
/('2)/ cognitive

(3) descriptive"

(4) prescriptive

s
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UMY &9 T SRS / QUANTITA
AND G.K. 8 AWARENESS TIVE APTITUDE,

fore s o foae g

questions by selecting the most appropriate option,

W%PtQ.R,S,Gﬁ'{TQﬁ;
S, TR B AWM A g aneh
ﬁqﬁ%,&rp%ama.rmﬁ
Wq‘rmﬂ'ﬁ%lPeﬁ‘{Q%gﬁa
A TEH A oomREd F

FAEER DY
war e ? - -
7 O
(1) Q o R
-
S
3 [5 @4 T
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AN D) TEE TEE 14 T AR TEH

Tl B 9 @

2 UEg #H AR
TER B : »

(1) 0.256 &

(2) 0.5 T

(3) 1.0 1

(4) 1.5 |41
—

I 10 REEE2022 1 AR o, T

\‘\x

61.

~R
i
,‘7

62. The volume of the

Five men P, Q, R; S and T read a
newspaper. The one who reads
first, gives it to R. The one who
rgads last, had taken from P. T was
+"not the first or last to read. There
were two readers between P and

Q. Who reads the newspaper last ?

(1) Q @ R’
) S ﬂ'ﬁ

metallic
cylindrical pipe is 748 _cms. Its
length is 1¢.L_cm and its_external
radius is 9. cm. The thickness of

pipe is equal to "

(1) 0.25cm
@) 0.5 cm @_ﬁ
3) 1.0 cm
M/I.S cm
If it was Saturday on 10th

Dece'r‘nberfaozz, what will be the
day of 8th December, 2024 ?
(1) Saturday ‘
(2) Sunday
/ Monday
(4) Tuesday

p.T.O.




64. A P R X, vk zus dfed
B Yohwzmg & B oA
v ot @v ¥ R, A & TR
AR Y p B www aEl O B
BT R 7

(1) X

[18/D]

2) Y
Q) 2
R oft 7 ovmer ©@ D

(4) R

710261

65.

(AGJS [CKTZ "[50]45
Py ) L ’ e
d g J

0

T

[ﬂ% ot
Cia. .

66.

A'ﬁiﬂ?ﬂ%rCDﬁng

a3 g¢
qu P

!

%l B,E*@r

T

64. A P R X Y and Z are sitting i, .

(IW]IZO
/\ p:

ﬁbM

row. Y and Z are in the centre 5,
A and P are at the ends Ris smmg
on the 1mmed1ate left of A. Who ; e
sitting on the immediate right of P2

(2) Y

/R,

Next term of the following series s :
" 2
AGJG [C_K] 2 (Eo)‘s
( Sy Er\fy )
TR
=
m.)
l 127
IX
o (&
p

(]V]laa

() X
‘3 Z

(2)

&

: 127
o (7]
ler

e J .
8 A is father of C and Q,lg_;;o_n:ggé\

is brother of A. Cis sister of D.

How 1s B related to E ?

-~
)

(1 ) Daughter

_(@), Sister-in-law

(3) Mother
(4) Husbang



61.

69.

10.

I-3/5317 ]

il
ﬁqmmﬂﬁﬁwaﬁ%:

3 X©)
2,9,28,?, 126, 21'!8344

Sl ([Zi 65
() 91 (@ 115

P 7 45,000 50 § w5 wqam
S
BT S %8 T 4% Q 30,000 B9
Y AERE g o ot 3 o
ﬁmzﬁﬁ%@HZI%aﬂqﬁﬁ
dter @, A Q FI Hiw gan 7
(1) 3 HE 9K

iE
(2) 4 HE T k(g]

(3) 5 HE g ,
4) 6 AE A& :
@ a =g ?

(1) 9<¥

(2) Tl

() I

4) T&

T MiEd e "N # "sun shines
brightly" H "ba lo sul", “houses.
are brightly lit" Elj "kado ula ari
pa" 3T "light cordes from sun" @
"dopi kup 1o n%' Ryt ST B
w3 o A

"sun" "brighfﬂr

P e T B @ TR
(1) sul,ba :
(@) sul,lo

- (3) ba, lo .

(#) lo;ba

P

[19/D)

61. Find the missing term in the

following number series :
: "97‘ 9,28,?,126,217, 344
(1) 37 65

@) 91 (4) 115

68. P begana bus_iness with Rs. 45,000
and Q joined with Rs. 30,000 after
some time. If the promnd
of the year were divided among
them in the ratio 2 : 1, when did Q
join ? I R

(1) after 3 months
(2) after 4 months
(8) after 5 months

[ after 6 months

69. Line:Square: : Arc.: ?
(1)_1_?ing r
(2) Sphere
§ Circle:
(4) Ball.

=

70. In a certain code language "su}n
shines brightly" is written as "ba lo
sul", "houses are brightly lit' as
"kado ula ari ba" and "li_ght comes
from sun” as "dopi kup lo nro".
What code words are written for

—

. 'P‘
"sun" and "brig_l_'ltlgr" _resp_e_z_ctwgly :
(1) sul, ba
(2) sul, lo

p.T.O.
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If tan 6 + sec 0= 4! then the Val

71. 4 : U
11. ET%tan 0 + sec 0 = 4‘(—‘-TTCOSGEBT of cos 0 is equal to : ¥
Y SRMER R 17 8
gy 14 2)
17 8 (1) 3 17
(1) — (@) 17
. BB L
15 17 17 15
3) $) = 17
) 17 ) 15 ot
hat is the smalles Numbey
72. 2880 T sigR & fog A Sadillids Dt
R .. which 2880 must be divideg in
;’igq 9 '7_3@ i order to make it a perfect SQuare 5
' 5 2) 3
(1) 2 ~(2) 3 @ige
0
® 4 (4) 5 @ 4 A5
I3. @ 10 f5H Y Tadt ® o e 73. Rekha walks 10 km straight g
T TSE 10 B T 3 R Ev then turns right and walks 10
TR & ek e SR a HAT: 5, 15 Then every time turning to her let,
AR 15 Rl oot B o RRwE she walks 5, 15 and 15 kn
g d o a ﬁﬁoﬂﬁ [e? respectively. How far is she now
Qe from her starting point ?
=
(1) 20 f&t — (2) 15 | 20 km (2) 15 km
@) 10fFR Q@s ﬁa—’r‘r | (3) 10 km (4) 5 km
74. AN HEAW 3 ke i T 74. “If ‘three numbers are in the ratio
;H;T EEAES %%ﬁ? g g‘@mﬁ i El‘ﬁ. Bl 3 : 2 : 5 such that the sum of their
18%62 X &l 7Y gl g Squares is equal to 1862, the
L5 a0 middle number is equal to :
i B § '
D @) 14 (1) 7 @) 14 3
(3) 21 5 (4) 35 () 21 it
) . AT 35

5. T RLEL FEnldii )
_.z ?@ﬁﬁﬁ Elﬂ?:&lﬁ (f ?ﬂ?ﬁ{ﬁ 9% & Square and an equilatefai

b triangl ' i i ircle. If
FHT: m % a § % gle are inscribed in a ¢ ‘
¥ ¥ A ‘ﬂ;;% ? o sy & a and b denote the lengths of gee

sides respectively, then which o
the following is true ?

(1) 282 =3p? /(zfsaa =2b’
() a*=8b%  (gyptigw’

z - (1) 2a® =3p? (2) 3a% =pp2
@) a*=3b* (4 pt_y.2

~ [Level-3/5317] . ‘1

2%



11.

18.

19.

) 920

FSRRRCEC TS
(1) 2,000
(2) 4,000
(3) 6,000 o ™,
QN
(4) 8,000 S
—
E'--..

D

a:ﬁﬁaﬁrwmﬁl;zqﬂ
a*‘ﬂ?f%lsﬂ%aamaﬁfﬁm%:
@l -2
@) 1:+2
()17 242
4) 1:4

ﬁwaﬂfaﬂﬁwgﬂw.mmﬁm:

10261

MQNRO, JSKTL, GUHVI, DWEXF, ?
(1) AYBZC
(2) AZCYC
(3) BYBYD
(4) BZCZD

&
5,200 57 & fffr A, B X C 7

—
O

_'ﬁwwmgmnaaﬂﬂs%

@Eﬁrézﬁrl—?-ﬂmﬁazﬁtwﬁﬁml

23

C 2T ATt R Bo FH A € ¢
(2) 900

(3) 880 (4) 880

[ Level-3 /5317 ]

[21/ D]

16, i
- The difference between th
F:ompound interest and simplz

(2) 4,000
(3) 6,000

_#778,000

I1. The surface areas of the two
spheres are in the ratio ] : 2. The
ratio of their volumes is :

(BHElxe
@t 7
3) 1:2/2 %

/(A')’l:'él

18. Find the next term of the following
letter series :

- MQNRO, JSKTL, GUHVI, DWEXF, ?
(1) AYBZC
(2) AZCYC
(3) BYBYD

_(#yBZCZD

79., A, B and C together completed a
work for Rs. 5,290. A and B

d —1—9— of the whole work.
23

Tj

together di

Amount received by C in Rs. 18
equal to :

920 (2) 900
(3) 880 (4) 850

PO
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80. % FAHX &7 A B, Prer A
8 Hllo, 9 o @ik 12 o Fwsl a@
B A9 AR At D dwww B
SR BT B, sy R

(1) 16 #Ho
3) 18 Hio

(2) 17 o
(4) 19 #Ho

8. ST g srishy e a9
AW I D7 o7 ?

(1) 99 Ry
(2) T
(3) AR
(4) T

82. ERUT R AR vewam R 2023
F AYT TR AT fobey ?
(1) Jifew g
(2) 31y Hfcrw
3) e srag | %
(4) Tt oo

83. T afwE F IR A P
HEHT B iU : '
(A) AP B TR SfER ToEy 3
Th AEH 3 S R am
(B) el % oFfAR Y 612 3
AME # T gfg aeK e
W?HWW:
(D) FF9 T (A) T B
&/ (Z)WW(B)W%I
@ T T FE @) TEH T ()
T 2B '
(4) I Hu F ¥

 [Level-3/5317]

£

80. The radius of a circular field,

whose area is equal to the sum qf
the ax'ga of the three circular fieldqg

havingjradii 8 m, 9 m and. 12 n,
respel_g_'{ively, is equal to :
(1) 16m 2) 17 m

| 518 m (4) 19 m

81. Which of the following was the

theme State for the 37th Surajkund

International Crafts Fair ?

% Madhya Pradesh
2) Rajasthan)o

(3) Mghipury
(4) ara
"

82. The woman wrestler of Haryana who

received the Arjuna Award of 2023 ?
(1) Antim Panghal

(2) Anshu Malik

(3) Geetika _].exkharrr‘F

A Sakshi Malik

83. Read the following statements about

_ Pehowa Inscription :

(A) The inscription was issued by a
ruler of gl.l_r_jﬁa_l_-“Pratihar dynasty.

(B) AESpér the mscinfa—tzgn‘\ Pehowa
was a famous market of horse
d%lers. | g

Chooke the correct code :

(1) Only statement (A) is true.

[2¥ Only statement (B) is true.

(8) Neither statement (A) nor
statement (B) is true.

(4) Both the statements are trI}E)O

23



85.

(1‘&)31@-{3“;@?'r
(B) SmRm-u- LS
©) W Yo a1 oy - Gﬂ:ﬁa

(2) (A)amd“éS

() (B) T (€}

(4) &), ®) T (C)

BT & T ¥ P ¥ g

BT T g ¥ ?

A) IR T I B wW A e

(B) SI& # G—-f%:i?r IPafe o @
e dilo ;

(C) 3 SrasIior, Uoe & HX &
W ;

72 e F TE O

(1) 39w F4 (B) T (C) T &

(2) dad T (A) T (q)a'aﬁ gl

(3) 39w FUF (B) Tl Bl

(4) ¥4 (A), (B) qur (C) TEl Bl

Rrafifag & ¥ Reem AAeC @@ Fel

86.
% g FECE go @ $ W
H 78 b
-
[
(1) Tgo Hio AgL -
h ' (2) ﬂl’!o %o ALl
@ I Y
q (4) faoad
[ Level-3/5317]

5

JE:I ii
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84. '
4. Which of the following

Correctly matched » g
(A) Gujari Mahal £ "Migar -~/
(B) Aram-e-Kausar - Narnaul

(C) Tomb of ikh - ¥ '
i Sheikh ]md\p
Choose the Correct code :
(1) (&) and (C)
" (A) and (BY
(8) (B) and (C)
(4) (A),(B)and (C)

85. Which of the following statements
about Sir Choturam are correct ?
(A) He began his career, as a
Congress man:— i
(B) Later be joined Unionist Party.\
(©)He- s a Mimister in_the
governmg_nt 3{ ~_Undivided
Punjab ‘ - ;
Choose the correct code :
(1) Only statement (B) & (C) are
correct.
(2) Only statement (A) & (C) are
correct.
(3) Only statement (A) is correct.
/4’)' Statement (&), (B) & (C) are

correct. JFFR

86. Who among the following did not
serve as the Chief Secretary
during the Chief,__Ministe;sth of
Manc;har Lal Khattar ?

(1) S.C. Chaudhary %
(2) P.K.Gupta -
(3) Shakuntala Jakhu.

R T 10:

/@g’ Vijay Vardhan.
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*""*(l)ﬁﬁi’rsz

81.

88.

90.

r]

gRamom e Qar o B qYH ST
EAE R [ G

(1)561@?1?1‘%%3
(Z)Wrﬁmgw
(3)‘ﬁqﬁ?‘6D

(4) WHI qUg

A & 3 @ T o
IRV R gefegt # owafgd
g7

(UWW@
(Z)f%vsm\mam
(3)@a€r~ww

(4)=rmamgm
Freffed & & @ B deaw
91T &1 fewm 787 % 7

(1) IR

(2) g

(3) Pyamt

(4) el

Wﬁaﬁ?qr?@w%?

D7102

2) Ta

(4) W

81.

88.

89.

Who was the First Chairman 5

Haryana Public Service COmmiSSion?

(1) Dalbir Singh :
Darbari Lal Gupta.

(3) Bhim Singh/”

(4) Manoj __Pandey)ﬂ

Which of the following wilg life

sanctuaries is located in Shivajj,
hights ?

(1) Khaparwas Sanctuar/W
(2) Bhindawas Sangtuai‘y '

ﬂ Khol Hi-Raitan Sanctuary

(4) Nahar Sanctua;'y :

Which of the following districts is
not part of Rohtak division ?
(1) Jhajjar

(2) Sonipat

(8) Bhiwani

2

)ﬂ’( Rewari

90. Where

the Institute of

Informanon Technology is beind.
set-up ?

(1) Kilohad .

(2) Baraut—

Indzan

/@/Pipali Khera ,

(4) Rasulpura

1-3/5317 ] fﬁ
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ol. fF=fafes & 9 LT @ R
HET el R & 7
(1) BNEE e
(2) BT :
(S)Wﬁmm(maﬁ
i)
(4) SRt

92. ReEme-siT g ST gem ®

(1) Sorar & 36 | %
) aﬁﬁﬁ'a%’rggtamwﬁ

S wi R A

(4) Ut & guF 4

93. RizF wRiE T W I A
ool & e B B 7

91. Which of the following is a sex-
£5 linked Mendelian disorder ?. 5
_ 2 henyl Kte‘tonuria
" (2) Haemophilia™®
(3) Sickle cell anae;niaﬁa

i
O

N
(@'Thalassemia)a
o
(@)
92. Richmond-Lang effect is associated
with :

(1) Delaying of Senescence

7

}Zj"boigqa_ggy_QfSeeds o
1 (8) Leaf Arranger_aggc

(4) Flowering of Plants 7

93. Which of the enzyme of citric acid
cy%e is membrane bound ?
..D : & g ~ .
q‘r Succinyl Co-A synthetase
(.Zc):J Malate dehydrogenase -

(3) Succinate dehydrogenase

m-ketoglutarate dehydrogenase

P.T.O.
£
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9S5.

96.

91.

(1) 50X

~ [Level-3/5317]

ﬁ.l

% e (SMA) T T A
&R Foms g S

(1) Foros s

(2)%%@

(8) HHH T YATcHH AT Al
N

R
4) Tt ﬁaa—qufaa g
0

Ffied & & B-a1 Fa9 srdreEe
P fow o 78 7

(1) SOTERE s, g

ST ¥ fAefv B
(2) FE=F # fu @ emEgEE D

(3) %aa PR F
%é}m%a

(4)%15‘1%5 TG THX
EﬁﬁT%lm—?
]

% fafire ¥ ) g@% 9w w7
qE S A S Geret @ mEr @
el T 2
(1) G oraw
(2) Tt sre/Es) wag
(3) TFH IUEHAT
(4)merlﬁeswa'cw

r-—l

T @Wﬁﬁqﬁ%&wﬁﬂ
mXFErge:q?aﬁ@ms 40X B, @

%ﬁfmsiﬁ'waﬁm?

@) 20X
(4) 400X

B

(3) 100X

94. The regulation of Lac opemnh
repressor protein is conmdere
as:

(1) Negative regulation
Wositive regulation
(3) Both negative and POsitiy,
regulation
(4) All options are wrong

95. Which of the following statemen,
is not true for_ bryophytes ?

(1) Sporophytic phase is
dependent upon the
gametdphytic phase.(_~

(2) Water s necessary fu
fertﬂlzatlon ]

(3) Only the spore mother celk
unciergo meiosis.

Sexual reproduction is
amsogamous type "

96. The amount of living matter
present in each tro hic level at.a
partlcular time Is called led as :

(D) Standmg state )2

(2) Standmg cr0p )0 %

Gross productlwty
(4) ana.ry productnnry/xo

971. What will be the total
magnification if the eye-piece
lens is IOX and objective lens 1s
40X in a compound m1croscope 2

(1) 50X 20 X
8% 400 x

(3) 100X



99.

® 7% 3 g S
®) % & gz O
4) TP | 375

mq-lﬁaslm-n%g&%a%

m%mWﬁﬂ%ma

aa’?aﬁ'{esram_qﬁlﬁq
CANLI | C\l FieH -1

@) gﬁ‘aﬁﬁmaii G omP| W

EEEE L

@ & © O
@ af v @
@ G @
@ v G
(i) iv) @ (iii)

B

[27/D)

98. Hepatic portal system starts from -
(1) Digest_iv:e system to liver .

(2) Kidney to liver

r,
% Liver to heart

(4) Liver to kidney

99. Match Column - I with Column - I

and select the w
using the ﬂeigileg below :

Column -1 Column - II

(@) Complete (i) Haploid male

Parthenogenesis Parthenotes

™

(b) Arrhenotoky ii)  Exclusively

female; male rare

(c) ?helytolicy_j (iii) Cyeclic

Parthenogenesis
(d) Incompletg iv) Diploid

Parthenogenesis

d-2
=

thenoqeriééis
Codes: |

@) ®) € &

O @, O @

@ @ @ ) (iv)

O o o ®

@ @) @ O
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100. HEH-I H Haw-II § gafod HC
aﬂ??ﬁ%ﬁnﬂiwaﬁmﬁ

=)
=i
-1 ~  FW-I
(a) G‘iﬁﬁ:[ (1) 3t
IqAT
ST
(b) THIH (i) SFE T
i Y T
o » :
(c) == g (iii) I
=
=
(d) TN T A (iv)reTsiiarem
gc -
(a) '(,b) ) (@
M) G @ G (v
\ "/ N"
; =2
@) (v) GG )
,. R ) A
S @ () @) (i) (i)

f .
1

A

F @ @ O @ G

100. Match Column - I with Colurn . _

and select the correct ansy,

using the codes given below :

Column - I Column - I1
(a) Oparin @) : Use and disuse ,
organs
(b) Lamarck (ii) Evolution by
natural selection
(¢) Darwin | (iii) Saltation

(d) Hugo de Vrie;sJ (iv) Abiogenesis

- -

QQ&(M (i} i) ()

4) i) @ @v) (i)
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[29/D)
'R j01. W P B T
: _II ? Hifor 101. Match Column - T with Column - I
Wey , = 1
\ﬁr{ 5 ﬁq & ??7 Rl Yo | and select the correct answer
WG?R' o ﬁl‘F{_ 2l M using the codes given below :
L :ﬂ mq'n Column -1 Coluran - I
Se of (3
(@) ﬁqﬂhﬁ% Eﬂ?#:) (1) m (a) Meristem tissu Sclerenchyma
(b) 1 s (i1) W (b) Simr:de tissue (i) Hydathodes
by \\
on (c) BT I (iii) HSarE ST\ ) Fueen
—
o) i issue = (iv ium
(@ R FH N () T e ) o
‘_1
E ' Codes : %
%e -
: B Rl @ @ (e (
4 (@) (b) \AE@ = 7). A‘ .}"\ b«
| T [ LR
M v GO @ |
@ o o1
> U | o =5
S48 @ @ O @ @ 6
(i) (iD) - 1 |
@ @ @ [0
v) @ e gy
(i) (iv*) Gl
a @ /

P.T.O.



103.

RA ™ g gema § R @
H gt A

&= *

@ () ©
(1) 3% A e
(2) 37  FeA-elcE b A

(3) aFa ,%a:r-%%ﬁ-m S
! i,

(4) T B W R

, ¥ A e e w
FHIoTT
(1) TEfiag Fizo7 & Thifes ord

I & B

@) FerHET a0 Rfeqd #1 I
B 2

&

102. Ammonia which is produced by
metabolism is converted into urey

in the (aﬁ'&...ﬁof human beings i;]},
the prdeess of (P) ... ang
excretea;gut by (€) ------ g

Filling the gaps with the help of

given codes :
Codes :
(@) (b) (c)

Liver y

(1) Kidneys Krebs cycle

=
2) Kidrte%s Krebs-Henseleit Small
:3 cycle int'estilie
R
) i
/ Liver _KrebsHenseleit Kidneys
cycle

(49) Liver Krebs Cycle Kidneys

i 2 = I
103. Choose the correct statement from
the following :

(1) Acetic acid is pfoduced by
Aspergillus niger. '

.». N ‘ : :
/‘Qﬁta_l__t_l@ are produced by

§&e§{éco¢cu§i (S

= [
(8) Cyclosporin A is produced by
Trichaderma po]ysporu:p,’_\.-/

(4) Yeast ‘i,s:g_se_c_l_f_o{'ﬁrr_g mercial
production of Lactic eé?@/y

3




105. M=eiRag  § g PG E%Bﬁi
Wwa@m%ﬁ@mﬁﬁﬂ
& el wd ye

(1) GIIHE ST

1os.ﬁ1=n’%ri@ﬁﬁ€ra§\=r-mwﬂ=hm

(1) =
(3) feerdA

- 101. wmmaﬁaﬁraﬁrwéﬁ@r
B @R 3 A9 @ iR T B

[31/D)

104. Hard ang stony shells of fruits and

seed coats are characterlzed by
the presence.of :
(1) Thick walled parenchyma psz
(Z) Collenchyma/

Sclereids -
s & \x
(4) Prosenchqu\,\v

105. Which of the following sphincters
guards the opemng of hepato—

pa.nc:reanc duct mto jc_he duodenum ?

“/Pylonc Sphincter

(2) Sphincter of Odd:l/’O %

3) Splunoter of Boyden X

(4) Clisson's Sphincter

—

106. Which of the following amino acids

is coded by only one _godon ?

(1) Serine :_

(3) Tryptophaw (4) Glycine <~

107. The movement of particles or
| molecules from a region of hlgher
concentration to a region of lower

concentration is called as:

(1) Guttatlor})o (2) Osmosis

(3) Diffusion mbibition
p.T.O.
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[32/D]
8. S 3 Tgd A o A B 108. In Donnan’s equilibrium, the
e 5 for accumulation
RESMH AT E: O source of energy
S of ions is :
—
(1) ATP E (1) ATP ‘
(2) T P EITHRA TE 8 Aﬂ/ Energy is not required@
(3) NADH 3 (3) NADH
(4) ADP | (4) ADP

109. F=feiRaq g’ﬁ ¥ 9 g& giq/gﬁt El 109. Choose the correct pair/s fr'ofn. the

T FHIY 3 following pairs :

(i) e HgM - R 2.(33 g @) Dowr's Syndrome —Tris'd_ijnshof
=) chromosome 21

(i) FARTBTET EE —%Y (ii) Ifﬁinefelter's Syndrome — XXY+

(iii) T RigH - X0 (iii) Turner's Syndrome — XOtv—"

el %2 T : & hhe correct code :

(1) T34 (i) | (1) Only (i)

(2) Fa9 (1) T (i) : (2) Only (i) & (ii)

(3 F@ (@) T () (3) Only (ii) & (iii) %

4) (@), G d i) ‘1(4)’(3), (ii) & (iii)

-

110. fifeq A s@RuFr & RwEd 110. Stirred tank  bioreactors have
fepam T % been designed for : .-
(1) SO% % gREFT B @'E{I urification of the product >

_—— (2) T § qREs ﬁlﬂ@% fea) (2) Addition of preservat_iv;es to

g 25 - the product,s B

3) Ensuring anaerobic conditions
in the culture vessel. &

(4) Availability of oxXygen

th:rougl'fout the bioréactqr.




e 3
T S
@) FHH ST Wierosry i

@) B ST s
IS

(4) STTeH SRR ongem 34

12, B & ¥ 7o7q O B

-~

‘-‘.'x‘-_\\.
(1) gHeREr | gar @ A T W
SRy faferern aedt Sl &l

(z)amvﬁaﬁﬁﬂsr%eﬁaﬂaq‘rﬁ
& % fRew g WO

& e

==\

‘.
k]

What is the full form of GEAC ?
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111.

] ] . :
( )‘_hlGenetm Engineering Approval

g:ommunity

o
(2) Genetic

%&ppre_cfi__e_tigz} Committee

— &enetie Engineering Authority

ouncil

Engineering

(4) Genetic Engineering Approval
Committee X2

—
\O
112. Cl'gqpse the incorrect statement
’_____--:"'-

om below:
pecies dlve};ﬂmcreases as
{ - we move away f.jfom the

\

P

egqator tow_'ards the pples.
(2) Amazonian rain forest in South
_/"'__ ey £

America ha*e the greatest

blodwersny on eartmT

e

(31\iI'Iop1cs mostly harbour more

v—Bpemes than temperate or

CDpolau' aréas 7"

(4) Among animals, insects are

speCLes rich

the X most

taxonomic gIO'JPT

P.T.O.

o
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113. 4 Ry ™ g H e § & E
el # |/ 7o qae g

e W SfY
M .
(a) SRR [gyor & A wiwE
PR
(b) TENH (oS @ gRPE  ’we
e
(c) IR [svenm 1 Fw| wRige
. i
(@ SRR TSI~
% e
N :
g -
() @) a @
(2) FTd (b)
@) T Ao gE § e
(4) 399 (d)

114. "X § F=fafad & § f59 @@
YT Hed B 78 R T op ?
(1) 999 & SHR
(2) g9 1 T
(3) 3= & Rafa %
(4) Wl T STHRT

115.@%%%&@@%@@
%‘!WE

IR i e

(@ oy
s - (3) W THigrg

4) fag miory

-

113. Select the wroug combmanons
from the given tad:ale with the hej;

of codes given b&)w
Name of dource Nature
hormone
(a) Testosterone |Leydig cell’s 1 Steroid
it of testes
(b) Estrogen Follicle cells Steroid
SLovay
P—(c) Pri:gg_sterone Corpus SLo.;gid
luteum of
|I...1i.

-T‘tcl) Human_j((y |Plagenta Glyco-
Chorionic g_ protein
Gonadotropin s

["‘n...
Codes : fn

(1) (a) and (d)

A Only (b)
(3) All combinations are correct
(4) Only (d)

114. Which of the following traits was
not studied by Mendel in Pes ?
Flower Shape

(2) Flower Colour 7
3) l:'lower Position*—

(4) Pcu:_i"smu:'eao{:,zI

115. When uteri partuﬂly fuse so as to
form two horns Ed two separate
lumens inside, it is called :

(1) Bipartite Uterus?":3

(2) Bicornuate Uterus.~

(8) Simplex Uterus
‘Duplex Uterus



e 16. '.E'”'I%“@E' ARy ¥y ﬁ’f‘eﬁ G
B ey gyt e i
: ® m glands among the following
are not examples of €picrine gland ?
© II'W : (a) Sweat Clands .
l! o _ ¥ Salivary Glands. '
i co, g ((c)’Maxnmary Glands

P (d) Sebaceous Glands

S_elect correct answer by given

codes :
%e -
Codes :
@)) 9 (b
(@) T (b) (1) @and (b) |
(2) (@9 (c) T () @and@c) % |
b . |
® ®T@ o | [ s @
[“-—« .
4 @@ ~ (4) (c)and (9)

117. Which of the following statement is

wrong ? : S i

(1) The culturable fish should be
herbivorous in nature. 7

N1, Freffe # & #-ar T e 7

‘-'.

The culturable fish should be
fast growing.T

(8) The culturable fish should not
be unpalatable.
The culturable fish should not
be tp;x_'olj_fic breeders.tg

<

P.T.O.
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118. NIRRT = ¥

119.

(1) orfsY ort &
(2) T ot B
(3) M B

(4) FEEEST B

Merliy 3w & F Fu/FEA

F T AR RY W ge B weEar @
T

(@ T g Ay IoRem A R

(b) FH IR N W BF ¥ AR
TS% 9 T B9 B

(c)@ram’mamam%.

%c -

(1) a9 (a)
(2) ()7 (c)
3) ()T (c)
4) @7 )

120. % 9 & AT H o 3

M @ATT 3y

2) CIFRTT iy
@) TR Ty
(4) AFRTT Brehiy

g

(1) Amifg ac‘d"f&
(2) Fatty acids
(3) Protéins

f’ Carbohydrates

119. SeleCt

the correct Statemenvi
about Osteichthyes with the hejp

codes given belo_W 3

(a) Air bladder is present.

(b) They—;have four _pairs of g1]_L

wl'uqh are covered by an

)
operculum on each side.

-—‘F/W

(c) Placéid scales are present on
o PR

e T

Codes :
(1) Only (a)
(2) (a) and (c)

/ (b) and (c)

(4) (3) and (b)

™

120. Black w%\&er fever is caused by :

—

(s

(1) P]asfiiodium ovale >
)
(3} Plasmodium vivax

ﬁ P}asmodzum malariae

Plasmodium falciparum

.l-.;.

:lb

-
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1 :
1) 7 3=y 97 %a 21. A typical Angiosperm embryo sac
@) 8 - : e at maturity is : '
@) 8 S g ﬁ'iglﬁlq > (1) 'INucl%te and 7 Celled
% 7 o Eﬁliﬁl‘tﬁq (2) BNuclegte and 8 Celled
T ERRCo & 8Nuclgate and 7 Celled

. (4) 7 Nuclegte and 8 Celled

192. RUBISCO fa&z 3 R .

122. The substrate for RUBISCO
enzyme is : ‘
(1) RIAT 1, 5 qEeres A i
(1) Ribulose 1, 5 biphosphate
@) RIAT 1, 5 frgreae ohoss:

; (2) Ribulose 1, § bisphosphate

3) RIAT 3, 5 e '

| (3) Ribulose 3, 5 bisphosphate o

(4) R?"i‘ 1,5 SE®Ge %{ Rib&lqéF_l,__S_diphospl'_lqte)a ;
- FS'— = = = s
123, Feleag & @ .Er?l?-w ‘P’ N 123. Which of fhe following is a 'cry
AFH BEH B ARG A § swm gene used to control corn borer ?
B e 7 ' |
) FE 1T (1) Cryllc
2) CrylAb
2) @ 1T _ @ Sy ->
| (3) Cryl1Ab
(3) 1§ 1 TN " 4 Both Cry I Acand Cry 1 Ab
-. oth Cry I Ac and (
_(4)Eﬁrs‘1t{¥ﬁaﬂwﬁra‘ﬂﬁrﬁ / .
; ] diated
1 &9 124. What fornll of‘ energy 1s raciaie
.124' g‘&ﬂ ara ekl T i by the E'auta which is absorbed by

é}gen H"é\jysen' gases to cause,
Glol:;a; Wéig‘ﬂng‘; —
(1) Ultraw%et RaYsX.
() VisibleRays ¥

S Intrared Rays.

(4) Radio Waves /O
.‘ L)

P.T.O.

‘_—‘d
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125. Pl & @ 7o Ag/RE #
2 RY M ge A o § AT
(@) o<l opfr o rqaﬁmm
®) e (wh) - A

Al o

(¢) SN onfRr o — SR

(@ NRF Pl ovw — BT

g -

(1) (®) T (c)

(2) 9 ()

3) (b), (c)Td(d)

4) ©3@@

126. %o Wﬁwﬂ’ﬁfﬁmaﬁt
Wﬁ,qﬁsﬂ%ﬁb@oqoﬁ
Fl"%ﬂg' 1.7 foeft 2
(1) 2x 10°bp
(8) 5x 10°bp

(2) 2% 10° bp
() 5x10°bp

121. &% F YaTH T F e o
9T S 2
(1) AE awge F %
(2) 77 Toge
(&Wamw‘%mﬁ

_—
1 ect :
125. Choose the ﬂiz‘-—-f—qu%

from the following with the helpm

codes given below :
x/' (a) Acidic amino acid - Glutanje acy

_(by Basic a,mmo acid - Vajme

/}/)@7 Neutra]ﬁunoaad - Lysme
7'(d) Anmlawmd — P%Ienylalam‘ne
Codes :
(1) (b) and (¢)
A& oy (©
3) (b), (c) and (d)
4 (o angd)
N
(@)
126. Calculate ‘_{he number of bas
pau's in Eq:'olf Af the length of it

DNA s 1.7 mm
@) 2x10°bp %’fx 10%bp

®) 5x10°bp @ 5 x 10°bp

5% o
127. In corallq‘_gi roots of Cycas, 1
alga_l zon‘%]s Presentin :
(1) Inner Gortex :
(2) Middle Cettag:
/‘fﬂemeen epidermis and out¢
Cortex ;



. ﬂ’ ﬁqi%”aﬂ B} 2 o [39/D]
e | e LA e
f ﬂﬁ 128. Reaq the fd:Ibwing statements and
& 9IRY Ootriy 3 %Q : e choose the grrect option :
. >
For a plant ies :
ORUSE LN st 23 3 ant {Pecies
EIks 3 Ao ey A ¥ =L /(i\’)/ Ecads are morphologically
_ T, T different and_fgg; inte_erfgzrtil__e.f
(b) TRR&fF ey TR e e
ﬁ;l%{ -E?fa % S (b) Ecotypes are . genetically
bl Vi RRRRCL differe;gt and are interfertile. F
(1)
—
(1) @« (b) a:ﬁ F@%l ‘“‘ (’1) Both (a-)End (b) are true.
(2) 8) 3 (b) 3T Taq (2) Both (a) and (b) are false.
(3) %ad (a) TE B % _,Aaf?nlv (a) is true.
@ ..Onl (b) is true.
(4) 3ad (b) TE B (1) Sy
5 ; 129. Choose the incorrect pair from the
129, Fpfofae & @ 7o et IO J
:* following :
l—'i
{1); ConunqﬁCold — Haemophilus
i L O
|
E influenzae
(2) Malaria = Plgsmodium 7~
Mﬂg‘v orms - MCTOSpomm P
(4) Elephantiasis — Wuchereria f

P.T.O.
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In human eye, Wwhich

130.
130. WMT AW ¥ Prefofag § @ A following does %J-Iémesemlh

g ? b wigk Refractmg medla ? o
- : Iris~ '
1) R (TR /n’
Ez; SRID] gsq( ) ﬁ / (2) Aqueous humour
o -
(8) HEN g rrj \(8) Vitrous humour |
4) ¥ o (4) Lens!
181, Il & R s & e & @ 131. Broca's area of speech is presy,
in: | 2
(1) R ofy & (1) Parietal Lobe
() 99 T & (2) Temporal Lobe

‘/(Gf Temporal and 1 Occipital Lobe
(4) Frontal Lobe

=

(3) ST ST T STt Wifer
(4) STIEee i § g

132. PrefiEg 3§ g?aﬁq@ T w 132. Which of the following is mos =
SEIRE IS §9 - . purlﬁed form of Lac ?
1 |
(1) 991 A 2 g= " (1) SeedLac  (2) Pure Lac
3) sfie - |
(3) dfre @rg 4) ¥ @@ (3) Sheet Lac Shell Lac

133. frfifes wedt & @
- ° e 133. Which of the following plants doei '

ST 9 SR gay — .

ﬁﬁw%gwava%? i not produce both chasmogamous{ =

(1) gl | and cl Sto Jamous ers ?
(@ 3]?%]}%?? 5

) (1) Viola (2) Oxalis

(4) Commelina

R i #%EW /ﬂ Rose

134. arTeafis w9 § Bu W Ay ¥ .

134, Cotton ﬁbres are botanically :

() mm
_. ',_,I m@ b | /?f Bast fibres
@ i - A\ (@) Xylem fibres
_~ Ehfq @) sreta gy (8) Phloem fibres @

(4) Epiderma fibres



at

st

136.

131.

o I T H et A s g,
ST fvg @ A L

10261

(1) g3 X &
(2) 979 & T I &
@ g & 7 A

[41/D]

13 h
5. During Which phase of ce

1l cycle,
does  the

_ paired
reg}_i_c_ate into two pairs ?

1) G172
(2) § »
@) G2,

AT

136. Which of the following is a

homosporous Pteridophyte plant ? |

centrioles

(1) Selaginella -
I-(Z) Marsilea
=23) Salvinia

(4) Equisetum »

137. When solute is added to pure
£ 2 :

water, the value of _ water
potential :
(‘1') remains zerp

| S
ecomes more than zero. -

(8) becomes less than zero.

M’does not change.

138. The translocation of sugars in

. - l"?
angiosperms occur in which form *

(1) Glucose/® %Sucrosew

(3) Maltose>= J"Fructose

Rk O.



45

[42/D]

139, doHl F gy H HR B 139. Dormancy of seeds is causef_:_l_bYJ
(1) art AR oo # fw &dw | (1) Impermeabﬂlty of seed coats

i AT to Wath a.nd  oxygen.

@) T i GTE{R@EIHTI ' (2) Immaturity of the embryo.”
(3) ST AL nination inhibitors
(4) T fapew 1%’ Bl . (4) All tﬁe opt1ons are correct.

140. ¥ R W g A I A 77 140. Choose the correct pair/pairs
S/ ﬂe‘ : from the following by using codes
() e T - W given below :
(b) TERARE AT~ FAF A g7 (a) ‘Minamata disease — Mercury
(c) H-q F%@TG— TEFTH (b) Byssinosis disease — Cotton dust
@ iﬁﬁlﬁl‘ﬁiﬁﬁﬁm— Q@TEEH (© .Kzibck-knee syndrome — Nitrates
gc : g (C) Met.haemoglobmaem]a -Flourides
(1) (@), (c)T(d) Codes:
(2) FAT (a) (1) (a), (c) and (df
3) (), (c) T(Q) (2) (a) only "~ %
@ @3 ®) 1aioq A5 ®), (@ and (@)

(4) (3) and (b) o

141. Frfafed & P qm 1l 141. Which of the following is ot a

fsyar 72F 2 ? characteristic of humusg ?
(1) T s qeal H WeR B L
SR & (1) Itisa Teservoir of nutnents7_
: ; |
() T TR T SR @ R (2) Itis a dark colored amorphous

sl ¢ % substance‘?
qga 3 fafes e & (3) It undergoes decomposmon at

a very fast rate

\_ - ;@ﬁ T : ﬁlt is colloidal in nature,
« g | _.___H—_-_‘_\_‘_\_\_\_\_-_ .




() I = (2) :ﬁ‘;
S () w1
%< ¢

@ B @ @
@ d v @) (111)
@ ) G g
@ O G @
@4 v @) d) @

r‘-‘.

143. WWW%@%WM@TN

H AGRIEAT FAT 0.6 AT 0.4 F
MN & T9e ard ARkl & o
STgfT Fwa: &t

@

(1) 42% (2) 82%

(4) 48%

@) 21%

[43/D]

142, Match Column - 1 with Column - 11

anle select the correct answer
using the codes given beloy

Column -1 Column - 11
(Commodity) (Source)
(a) Quinine (i) Roots
(b) Coffee-,_‘-'i, ii) Leaves
(c) Tea + (iii) Seeds

(d) Heeng 1v) Bark o o i
Codes :

@\ ® ( (@
1) @ | Gv) @)\ (i)

(@) (@) | (v) @] @)
®) @ ) @) @)) (@v)
f' (vy @) @Gy @)

143. For the MN blood group system,
the frequencies of M and N alleles
are 0.6 and 0.4 respectively. The
expected frequency of MN blood
group bearing indiviaggl_s,_ is likely
to}gge_‘:_ B gy R

0 b
(1) 42% B2 g
1% _ 0

144. "Which of the  following
characteristics is not true for alt
cyanobacteria ?

J (i) They have the ability to fix
atmospheric m'trogen.T
(2) They lack a membrane bound
nucleus.

They contain chlorophyll ‘&,
(4)' The1r cell Wii‘il;'ig not _made up

of cellulose. '
' pP. T O.
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g H SWET R e

145.

ﬁqaﬁ%ﬂﬂﬁﬂ%ﬁ%ﬁ
g @ T

R A W

Y

(@) ST Ty

(b) 7Y T

(€) [T &

(d) T YAFIRF
%< -

(1) @), (@), (), (c)
@) (0), (d), (b), ()
3) (d), (0), (@), (a)
4) @), (d), (¢, (@)

146. FHI H I F GART e
T AN R oW g @ weE @
78 I H I aé’rm .

AT -1 ﬂm-n
(@) T FTH @) 2500-3000 P
a7
(b) ST 9T @)  1000-1100 fylt
g-rfaa ST A
© Frome. Rl (m)asooﬁﬁﬁiﬂ'g
Mg
(d) ST ST (v 1100-1200 fyelt
__*q..[g:
(b))  (¢) (d)
() (i) (i)
0 G )
. v, 0
Dillendi) (5

14S.

146.

i
Arrange the parts of artificial py,
used in apiculture from bOttomt
top with the help of codes Give,
below:
(a) Hive Ceiling ’
(b) Super ChamberZ-
©) Brood Chfmber,B
@ Queen’ﬂml“der it

C'odes
1) @, @), (®), (©)

2) (o), (d), (b), (@)
‘;bex ©, (@, @
(@, ®), (), (D

Match Column - I with Column -
and select the correct answer
using the codes given below : L

Column - I Column -1

; (o)
(al Tidal %’g‘ium / (i) 2500-3000 ml of

3 air

(®) Inspiratory @) 1000-1100 ml of
reserve volume ai

(c) Expiratory (ili) 500 ml of air
reserve volurne _
(@ Residual volume (iv) 1100-1200 ml of

@

®) (© @
D@ Gy oG @

@ @y oGy o aGv)
® i) (i} @v) (i)
ZF ™ o w G



148.

149,

@ I e
(@

e
i
D71
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147. & single set of chromosomes that
contains one copy of each type of

chromosome from a species
called :

, i

(1) Haploid set/JJ
(2) Monoploid set he

(3) Aneuploid set

%Diploid set

148. Which of the following disease is

not cauie{d_ by Hyperthyroidism ?
“f{1) Basedow's disease .
(2) Hashimoto's disease

(3) Exophthalmic goitre

% Plummer's disease

149. Inithe Meridional plane cleavage,
the cleavage furfow is formed :
(1) Above equator
(2) Below equator
__._—'—-—_-_"-""'_"_'__.
(3) Pass through horizonizil__ axis of
egg
Pass through animal & vegetal

poles from the middle

P.T.O.
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. . Ch th ._,Eﬁ
150. Prefag § A g SIS/ @ 150 oose wm . :
2 RY ™ g N FEE A g from the following by using codeg
s
iven below
Rebew - &l e S,
% : \Ww”?m%ﬁmam —  Species
() _ ReIReT . SO
: N
(©) TR FqRT - 7 R o) Linnaeus oria
: 8 Plantarum
i | @Am@&ﬂmwmaﬁ.. Pertax Theatri
| | S Botanici
ﬁﬂvwﬁ%wﬂl%ﬂw«w%ﬂw (@) wﬁ..&ﬂ_mulﬁ —  Genera
%c - : Hooker R o
(1) #79 (d) % Codes :
2) (a), (b) AR () 1) 9&_ (@)
(3) (a) AT (b) : A\SY@. @,& mum (c)
._ () (@)and (b)
@) @, )R @ . e R
|
O
N
s
e
Q

P






